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 3 Code No. :C-435/2017/Series-A 

QUESTION BOOKLET  
 

 

This question paper contains 200 questions. / 200   
All questions are compulsory.   
One question carries one mark only.   
 

Total Marks :200    200 
Time :2Hours   2  
 

1. Which type of motor is used for elevators ?  
 (A) Synchronous motor (B) Induction motor 
 (C) Split phase motor  (D) All of the above 
  
 (A)   (B)
 (C)  (D)  
 

2. Candela is the unit of   
 (A) luminous intensity  (B) luminous flux 
 (C) wavelength    (D) frequency 
  
 (A)  (B)  (C)  (D)  
 

3. The function of choke in fluorescent tube  
 (A) reduce the starting current (B) reduce the flicker 
 (C) initiate the arc and stabilize it (D) None of the above 
  
 (A) 
 (B)
 (C) 
 (D)  
 

4. Filament lamps operate normally at a power factor of   
 (A) unity (B) 0.8 leading (C) 0.5 lagging  (D) 0.8 lagging 
  
 (A)  (B) 0.8  (C) 0.5  (D) 0.8  
 

5. In indirect heating method, maximum heat transfer takes place by  
 (A) conduction (B) convection (C) radiation  (D) None of these 
  
 (A)    (B)
 (C)    (D)  
 

6. The material of the heating element for a furnace should have  
 (A) higher melting point (B) high specific resistance 
 (C) lower melting point (D) All of the above 
  
 (A)    (B)
 (C)  (D)  
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7. Which type of welding requires consumable electrodes ?  
 (A) Resistance (B) Arc (C) TIG  (D) MIG 
  
 (A)  (B)  (C) TIG (D) MIG 
 

8. In the process of refining of metals, the impure metal is made as   
 (A) cathode (B) anode (C) electrolyte  (D) None of these 
  
 (A)    (B)
 (C)    (D)  
 

9. In refrigeration cycle, the flow of refrigerant is controlled by   
 (A) compressor   (B) expansion valve 
 (C) evaporator    (D) condenser 
  
 (A)  (B)  (C)  (D)  
 

10. Operating voltage for d.c. traction is 
 (A) 500 V (B) 750 V (C) 1500 V  (D) 420 V 
 D.C.  
 (A) 500  (B) 750  (C) 1500  (D) 420  
 

11. A uniform wire of resistance R is divided into 10 equal parts and all of them 
are connected in parallel. The equivalent  resistance will be  

 R 10
 

 (A) 0.01 R (B) 0.1 R (C) 10 R (D) 100 R 
 

12. Three 2 ohm resistors are connected to form a triangle. The resistance 
between any two corners is   

 2
 

 (A) 6 (B) 2 (C) 3/4 (D) 4/3 
 

13. A cell of negligible resistance and e.m.f. 2 volts is connected to series 
combination of 2, 3 & 5 ohms. The potential difference in volts between the 
terminals of 3 ohm resistance will be  

 (A) 0.6 V (B) 2/3 V (C) 3 V (D) 6 V 
 2 2, 3, 5

3  
 (A) 0.6  (B) 2/3  (C) 3  (D) 6  
 

14. A 200 W and a 100 W bulb both meant for operation at 220 V are connected 
in series. When connected to a 220 V supply, the power consumed by them 
will be   

 200 W 100 W 220 220
 

 (A) 33 W (B) 100 W (C) 66 W (D) 300 W 
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15. The smallest resistance obtained by connecting 50 resistances of 
1
4 ohm each is  

 
1
4  50  

 (A) 50/4 (B) 4/50  (C) 200  (D) 1/200  
 

16. If the current in an electric bulb drops by 2%, then power decreased by  
 2%  
 (A) 1% (B) 2% (C) 4% (D) 16% 
 

17. A 25 W, 220 V bulb and a 100 W, 220 V bulb are joined in parallel and 
connected to 220 V supply. Which bulb will glow more brightly ? 

 (A) 25 W bulb  
 (B) 100 W bulb 
 (C) Both will glow with same brightness   
 (D) Neither bulb will glow 
 25 W, 220 V 100 W, 220 V 220 V

? 
 (A) 25 W  
 (B) 100 W  
 (C)    
 (D)  
 

18. Two electric bulbs rated at P1 watt, V volt and P2 watt, V volt are 
connected in series across V volt. The total power consumed is  

 P1 , V P2 , V V
 

 (A) P1 + P2   (B)  (P1P2) 
 (C) (P1 + P2)/2   (D) (P1P2) / (P1 + P2) 
19. A capacitor opposes 
 (A) change in current  
 (B) change in voltage 
 (C) both change in current and voltage 
 (D) None of the above 
  
 (A)   (B)  
 (C)  (D)  
 

20. Two capacitors of capacitance 3 F and 6 F in series will have a total 
capacitance of  

 3  6   
 (A) 9   (B) 2   (C) 18   (D) 24   
 

21. The force between the plates of a parallel plate capacitor of capacitance C 
and distance of separation of plates d with a potential difference V between 
the plates is  

 
 

 (A) ( 2)/2  (B) ( 2 2)/2 2 (C) ( 2 2)/ 2 (D) ( 2d)/
 

https://snowstudy.in



Code No. :C-435/2017/Series-A 6 

22. Two capacitors have capacitances 25 when in parallel and 6 when in series. 
Their individual capacitances are  

 (A) 12 F and 13 F  (B) 15 F and 10 F 
 (C) 10 F and 8 F  (D) None of the above 
 25 6  
 (A) 12  13    (B) 15  10   
 (C) 10  8    (D)  
 

23. Magnetic flux density is a  
 (A) Vector quantity  (B) Scalar quantity 
 (C) Phasor   (D) None of the above 
  
 (A)   (B)  
 (C)    (D)  
 

24. One weber is equal to  
 (A) 106 lines   (B) 4 × 10–7 lines 
 (C) 1012 lines   (D) 108 lines 
  
 (A) 106    (B) 4 × 10–7  
 (C) 1012    (D) 108  
 

25. AT/m is the unit of  
 (A) m.m.f.   (B) reluctance 
 (C) magnetizing force  (D) magnetic flux density 
 /  
 (A) . . .   (B)  
 (C)   (D)  

26. Magnetic flux passes more readily through  
 (A) air (B) wood (C) vacuum (D) iron 
  
 (A)  (B)  (C)  (D)  

27. The relative permeability of  a material is 0.9998. It is   
 (A) diamagnetic   (B) paramagnetic 
 (C) ferromagnetic  (D) None of the above 
 0.9998  
 (A)   (B)  
 (C)  (D)  
28. An additional condition for parallel operation of three-phase transformers 

over single phase transformers is that 
 (A) the transformer should belong to the same vector group 
 (B) ratios of winding resistances to reactances for the transformers should be 

equal 
 (C) the transformers should have the same kVA ratings                  
 (D) the transformers should not belong to the same vector group 
 

 
 (A)  
 (B)  
 (C)   
 (D)  
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29. The e.m.f. induced in the secondary winding of a 50-Hz single phase 
transformer having 1000 turns on its secondary is 222 V. The maximum 
flux density in the core is 0.1 Wb/metre square. The cross-sectional area of 
core is  

 (A) 0.1 m2 (B) 0.01 m2 (C) 1 m2 (D) 0.001 m2 
 

0.1 /
 

 (A) 0.1 2 (B) 0.01 2 (C) 1 2 (D) 0.001 2 
 

30. The e.m.f. induced in windings of a transformer will  
 (A) lag the core flux by 90 degree 
 (B) be in-phase with core flux 
 (C) be out of phase with the core flux 
 (D) be independent of core flux 
  
 (A) 90  
 (B)  
 (C)  
 (D)  
 

31. The core of a transformer is laminated sheets to reduce 
 (A) Hysteresis loss  (B) Eddy current loss 
 (C) Magnetic noise  (D) Magnetising current 
  
 (A)  (B)  
 (C)  (D)  
32. If length and area of cross-section is doubled, then new resistance of wire 

will 
 (A) Increases four times (B) Decrease four times 
 (C) Remains constant  (D) Changes at random 
 

 
 (A)  (B)  
 (C)   (D)  
33. According to fuse law current carrying capacity varies as 
 (A) Diameter   (B) (diameter)1.5 
 (C) 1/(diameter)2   (D) 1/(diameter)1.5 
  
 (A)   (B) ( )1.5   
 (C) 1/( )2    (D) 1/( )1.5   
34. The unit of conductivity is 
 (A) ohm-metre (B) mho/metre (C) siemens (D) ohm/metre 
  
 (A) -  (B) /  (C)  (D) /  
35. The property of material which opposes the creation of magnetic flux is 

called 
 (A) m.m.f. (B) Reluctance (C) Permeance (D) Reluctivity 
  
 (A) . . . (B)  (C)  (D)  
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36. Common impurity in battery electrolyte is 
 (A) Sodium chloride  (B) Iron 
 (C) PbSO4   (D) Dust 
  
 (A)   (B)  
 (C) 4   (D)  
 

37. In series resonance, the impedance of the circuit is 
 (A) Minimum  (B) Maximum (C) Zero (D) Infinite 
  
 (A)  (B)  (C)  (D)  
 

38. Unit of relative permeability is 
 (A) henry/metre (B) H/m2 (C) H (D) Dimensionless 
  
 (A) /  (B) H/m2 (C) H (D)  
 

39. A coil has 500 turns and a current of 8 Ampere causes a flux of 5mWb to it. 
Its inductance will be 

 500 8 5 
 

 (A) 0.25  (B) 0.5  (C) 0.75  (D) 1.0  
 

40. The heat produced in an electric heater is termed as  
 (A) Apparent power  (B) True power 
 (C) Reactive power  (D) True and reactive power 
  
 (A)    (B)  
 (C)    (D)  
 

41. For a low head and high discharge, the turbine used is 
 (A) Francis   (B) Kaplan 
 (C) Pelton wheel   (D) none 
  
 (A)    (B)  
 (C)    (D)  
 

42. Ampere turns are the unit of  
 (A) Inductance   (B) m.m.f. 
 (C) Reluctance    (D) Magnetic field 
  
 (A)    (B) . . . 
 (C)    (D)  
 

43. In power plant, a reserve generating capacity which is not in service but is in 
operation is called   

 (A) Hot reserve   (B) Cold reserve 
 (C) Firm power   (D) Spinning reserve 
  
 (A)    (B)  
 (C)    (D)  
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44. Series capacitors are used for improving the line 
 (A) Capacitive reactance (B) Inductive reactance 
 (C) Voltage   (D) Regulation 
  
 (A)  (B)  
 (C)     (D)   

45. An RC snubber circuit is used to protect a thyristor against 
 (A) False triggering  (B) Failure to turn on 
 (C) Switching transients (D) Failure to commutate 
 RC  
 (A)    (B)  
 (C)   (D)  

46. The number of leads in a DIAC are 
 DIAC  
 (A) 2 (B) 3 (C) 4 (D) 6 

47. McMurray full bridge inverter uses  
 (A) Auxiliary commutation (B) Natural commutation 
 (C) Complementary commutation (D) None of the above 
  
 (A)  (B)  
 (C)  (D)  

48. SSI refers to ICs with 
 (A) Less than 12 gates on same chip (B) Less than 8 gates on same chip 
 (C) Less than 6 gates on same chip (D) Less than 3 gates on same chip 
 SSI, IC  
 (A) 12  (B) 8  
 (C) 6  (D) 3
49. Binary number 11001 is equivalent to decimal number: 
 11001 : 
 (A) 35 (B) 15 (C) 105 (D) 25 

50. The output of a full wave rectifier contains 
 (A) Only even harmonics (B) Only odd harmonics 
 (C) Both odd & even harmonics (D) None 
  
 (A) (B) 
 (C)  (D)  

51. Anode current in an SCR is 5A. If gate current is reduced to half, the anode 
current will be 

 (A) 2.5 A (B) 5 A (C) 10 A (D) zero A 
 SCR 5A  
 (A) 2.5 A (B) 5 A (C) 10 A (D) A 
52. A 3-phase, 4 wire system is commonly used for 
 (A) Primary distribution (B) Secondary distribution 
 (C) Primary transmission (D) None of the above 
 4  
 (A)    (B)  
 (C)   (D)  
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53. The pointer of an indicating instrument is generally made of  
 (A) Copper (B) Aluminium (C) Silver (D) Soft steel 
  
 (A)  (B)  (C)  (D)  
 

54. When the pointer of an indicating instrument is in the full deflected position  
 (A) deflecting torque is zero. 
 (B) controlling torque is zero. 
 (C) damping torque is zero. 
 (D) both deflecting and controlling torque is zero. 
  
 (A)  
 (B)  
 (C)  
 (D)  
 

55. In a dynamometer type instrument, damping is provided by  
 (A) air friction   (B) eddy currents 
 (C) fluid friction   (D) None of the above 
  
 (A)    (B)  
 (C)    (D)  
 

56. The range of a moving – iron a.c. ammeter is extended by  
 (A) shunt  
 (B) multiplier 
 (C) changing the number of turns of operating coil 
 (D) None of the above 
  
 (A)    
 (B)  
 (C)  
 (D)  
 

57. To measure high frequency currents, we mostly use _______ ammeter. 
 (A) hot wire   (B) dynamometer 
 (C) moving iron   (D) thermocouple 
 ______
 (A)    (B)  
 (C)    (D)  
 

58. An electric pyrometer is an instrument to use to measure _______. 
 (A) phase (B) frequency (C) high temp. (D) None of these 
 _______  
 (A)    (B) 
 (C)    (D)  
 

59. The watt – hour metre is _______ instrument. 
 (A) an integrating  (B) an indicating 
 (C) a recording   (D) None of the above 
 - _______  
 (A)   (B)  
 (C)    (D)  
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60. A moving coil voltmeter gives full scale deflection of 100 V for an ammeter 
current of 1 mA. For 45 V reading, the ammeter current reading will be  

 (A) 0.45 mA (B) 1.45 mA (C) 2.22 mA (D) None of the above 
 1 100

45  
 (A) 0.45    (B) 1.45
 (C) 2.22    (D)  
 

61. The slip of a 400 V, 4-pole induction motor when rotating at 1440 rpm is  
 400 , 4- 1440  
 (A) 2% (B) 3% (C) 4% (D) 5% 
 

62. When a 400 V, 50 Hz, 6-pole induction motor is rotating at 960 rpm on no-
load, its slip is  

 400 , 50 6- 960
 

 (A) 1% (B) 2% (C) 3% (D) 4% 
 

63. A delta connected 400 V, 50 Hz, three phase induction motor when started 
direct-on-line takes a starting current of 30 A. When the motor is started 
through a star delta starter, the starting current will be 

 (A) 3 A (B) 10 A (C) 15 A (D) 30 A 
 400 , 50

30
 

 (A) 3  (B) 10  (C) 15  (D) 30  
 

64. The armature flux helps the main field flux when the load power factor is  
 (A) unity (B) zero lagging (C) 0.8 lagging (D) zero leading 
  
 (A)  (B)  (C) 0.8  (D)  
 

65. Synchronous motors are to be used in situations where 
 (A) the load is constant. 
 (B) the load is required to be driven at very high speeds. 
 (C) the load is required to be driven at constant speed. 
 (D) the starting torque requirement of the load is very high. 
  
 (A)  
 (B)  
 (C)  
 (D)  
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66. When a single phase supply is connected across a single phase winding, the 
nature of the magnetic field produced is 

 (A) pulsating in nature  
 (B) rotating in nature 
 (C) constant in magnitude but rotating at synchronous speed 
 (D) constant in magnitude and direction 
 

 
 (A)   
 (B)  
 (C)  
 (D)  
 

67. The induced emf in the armature of a lap wound four-pole d.c. machine 
having 100 armature conductors rotating at 600 rpm with 1 Wb flux per pole is  

 (A) 1000 V (B) 600 V (C) 100 V (D) 10000 V 
 

 
 (A) 1000  (B) 600  (C) 100  (D) 10000  
 

68. A d.c. series motor should always be started with load because 
 (A) at no-load it will rotate at a dangerously high speed 
 (B) at no-load it will not develop high starting torque 
 (C) it cannot start without load 
 (D) it draws a small amount ofcurrent at no-load 
  
 (A)  
 (B)  
 (C)  
 (D)  
 

69. Which one of the following is classified as an active transducer ? 
 (A) Metallic strain gauge (B) Capacitive microphone 
 (C) LVDT   (D) Piezoelectric transducer 
 ? 
 (A)  (B)  
 (C) LVDT   (D)  
 

70. PLCs are programmed using 
 (A) HLL   (B) assembly level 
 (C) C language   (D) ladder logic 
 PLC  
 (A)    (B)  
 (C)    (D)  
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71. Tariff is defined as  
 (A) The monthly bill of the consumer 
 (B) The yearly bill of the consumer 
 (C) The rate at which electrical energy is sold to a consumer 
 (D) The rate at which power is purchased from a consumer 
  
 (A)  
 (B)  
 (C)  
 (D)  
 

72. A lightning arrester acts as a _______ at normal operating voltage.  
 (A) Insulator   (B) Conductor 
 (C) Semiconductor  (D) Bad conductor 
  
 (A)    (B)  
 (C)   (D)  
 

73. Merz price protection system is applied to protect the alternators against 
 (A) External faults 
 (B) Internal faults 
 (C) Internal as well as external faults 
 (D) None of these 
  
 (A)  (B)  
 (C)  (D)  
 

74. If fault occurs near the impedance relay, the V/I ratio will be 
 (A) Higher than that of if the fault occurs away from the relay 
 (B) Lower than that of if the fault occurs away from the relay 
 (C) Equal to that of if the fault occurs away from the relay 
 (D) Constant for all distances 
 /  
 (A)  
 (B)  
 (C)  
 (D)  
 

75. The volume for copper required for an ac transmission line is inversely 
proportional to  

 (A) Current   (B) Voltage 
 (C) Power factor   (D) Both (B) and (C) 
  
 (A)    (B)  
 (C)    (D) (B) (C) 
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76. An overhead line has a span of 250 metres, the line conductor weighs 612 
kg per 1000 metres. The maximum sag in the line, if the maximum 
allowable tension in the line is 1430 kg, will be  

 (A) 3.34 m (B) 4.43 m (C) 2.34 m (D) 5.43 m  
 250 612

1000 1430
 

 (A) 3.34  (B) 4.43  (C) 2.34  (D) 5.43  
 

77. If a short transmission line is delivering to lagging power factor load, the 
sending end power factor is  

 
 

 (A) S = ( R R + R)/ S 

 (B) S = ( R R + )/ S 

 (C) S = ( R R + )/ S 

 (D) S = ( R R)/ S 
 

78. The main criteria for selection of size of a distributor for radial distribution 
system is  

 (A) Voltage drop   (B) Corona loss 
 (C) Temperature rise  (D) Capital cost 
  
 (A)    (B)  
 (C)   (D)  
 

79. Multicore cables generally use 
 (A) Oval shaped conductors (B) Sector shaped conductors 
 (C) Square conductors  (D) Either (A) or (B) 
  
 (A)  (B)  
 (C)   (D) (A) (B) 
 

80. The power factor of a system on a 460 V, 3 phase, 60 Hz, in which the 
ammeter indicates 100 ampere and the wattmeter reads 62 kW will be 

 460 , 60 100
62 kW  

 (A) 0.88 (B) 0.78 (C) 0.68 (D) 0.72 
 

81. A generating station supplies the load of 15000 kW, 12000 kW, 8500 kW 
and 50 kW. The station has a maximum demand of 22000 kW. The annual 
load factor of the station is 48%. The number of units supplied annually is   

 15000 , 12000 , 8500 50
22000 48%

 
 (A) 9250.56  105  (B) 9250.56  103 
 (C) 8250.56  104  (D) 9250.56  104 
 

https://snowstudy.in



 15 Code No. :C-435/2017/Series-A 

82. Which of the following is not a non-conventional source of energy ? 
 (A) MHD power generation (B) Thermo-electric power generation 
 (C) Nuclear power generation (D) Solar power generation 
 ? 
 (A) MHD  (B)  
 (C)   (D)  
 

83. Making capacity of a circuit breaker is given by 
 (A) Making capacity = 2.55  Symmetrical breaking capacity of a circuit 

breaker   
 (B) Making capacity = 2.55  Asymmetrical breaking capacity of a circuit 

breaker 
 (C) Making capacity = 1.55  Symmetrical breaking capacity of a circuit 

breaker   
 (D) Making capacity = 1.55  Asymmetrical breaking capacity of a circuit 

breaker 
  
 (A) = 2.55     
 (B) = 2.55   
 (C) = 1.55     
 (D) = 1.55   
 

84. Gas/diesel/pumped storage plants are used as 
 (A) Base load plants  (B) Peak load plants 
 (C) Both (A) and (B)  (D) None of these 
 /  
 (A)   (B)  
 (C) (A) (B)  (D)  
 

85. Which of the following powers plants has the maximum efficiency ? 
 (A) Solar power plant  (B) Diesel power plant 
 (C) Nuclear power plant (D) Hydro electric power plant 
 ? 
 (A)   (B)  
 (C)  (D)  
 

86. In a house, 12 lights of 60 W each are used for 4 hours per day. The energy 
consumed per day is  

 60 12
 

 (A) 2.88  (B) 3.88  (C) 1.88  (D) 4.88  
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87. A generator develops 200 V and has an internal resistance of 100 ohm. The 
power delivered to the load of 100 ohm is 

 200 100 100
 

 (A) 80  (B) 200  (C) 100  (D) 400  
 

88. In series grouping of cells, the current delivered to the load is  
  
 (A) I = nE/(R+nr)  (B) I = E/(R + nr) 
 (C) I = E/(R + r)   (D) I = n E/(R + n) 
 

89. The maximum output power delivered by a solar cell with sunlight directly 
on a clear day is about  

 
 

 (A) 12 to/ 15 / 2 (B) 15 to/ 20 / 2 
 (C) 20 to/ 25 / 2 (D) 8 to/ 9 / 2 
 

90. The flux produced by a pole piece of a loudspeaker is 1.2  105 maxwell, 
which has a cross sectional area of 0.8  10–3 m2. The flux density in Gauss is    

 (A) 20,000 Gauss   (B) 15,000 Gauss 
 (C) 9,600 Gauss   (D) 1,500 Gauss 
 1.2  105

0.8  10–3 2  
 (A) 20,000    (B) 15,000  
 (C) 9,600    (D) 1,500  
 

91. Magnitude of hysteresis loss is given by the relation  
  

 (A) h = 1.6
max

2   (B) h = 1.6
max

2 2  

 (C) h = 1.6
max

  (D) h = 1.6
max

2

92. When the current I flowing through a coil having N turns changes, the flux 
 linking with the coil changes. This induces an emf e in the coil. Then self 
inductance is  

 
 

 (A) = /    (B) = /I2 
 (C) = 2/    (D) = /I 
 

93. A supply voltage of 230 V, 50 Hz is fed to a residential building. The 
equation for the instantaneous voltage is  

 230 , 50
 

 (A) = 325.27 314.16  (B) = 225.27 314.16  
 (C) = 325.27 214.16  (D) = 225.27 214.16  
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94. In an R-L-C series circuit, the phase angle is given by 
 - -  

 (A)  = –1( L/ )  (B)  = –1( / L– C) 

 (C)  = –1( L– C/R)  (D)  = –1( C/R) 
 

95. The impedance of a circuit is given by 4 + j6 ohm. Then its admittance in 
mho is 

  4 + 6  

 (A) 0.0769 + 0.1154  (B) 0.0769 – 0.1154 

 (C) 0.1154 – 0.0769  (D) 0.1154 + 0.0769 
 

96. In parallel resonance, the resonance frequency is given by 
  

 (A) r = 1/2[(1/ ) – ( 2/ 2)]1/2 (B) r = 1/2[(1/ ) – ( 2/ 2)]1/2 

 (C) r = 1/2[(1/ ) – ( 2/ 2)]1/2 (D) r = 1/2[(1/ ) – ( / )]1/2 
 

97. Three equal impedances each having a resistance of 8 ohm and inductive 
reactance of 6 ohm are connected in star across 3 phase, 440 V system. The 
power factor is given by 

 (A) 0.75 lagging   (B) 0.88 lagging 
 (C) 0.80 lagging   (D) 0.72 lagging 
 440 V 8

6  

 (A) 0.75    (B) 0.88  

 (C) 0.80    (D) 0.72  
 

98. The temperature coefficient of resistance is negative for 
 (A) Tungsten (B) Steel (C) Tin (D) Carbon 
  

 (A)  (B)  (C)  (D)  
 

99. Overhead telephone wires are made up of 
 (A) Copper wires   (B) Steel wires 
 (C) ACSR conductors  (D) Aluminium wires 
  

 (A)    (B)  

 (C)   (D)  
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100. Which of the following is not true with respect to Light Dependent Resistors 
(LDR) ? 

 (A) Automatic brightness control in television sets 
 (B) Proximity switches 
 (C) Optical encoding 
 (D) Protection against surges 
 (LDR) ? 
 (A)  
 (B)  
 (C)  
 (D)  
 

101. Dielectric loss of an insulating material depends upon 
 (A) Voltage, temperature, frequency and humidity 
 (B) Voltage, temperature and frequency 
 (C) Voltage, frequency and humidity 
 (D) Voltage, temperature and humidity 
  
 (A) , ,  
 (B) ,  
 (C) ,  
 (D)  
 

102. The common household glass is  
 (A) Soda lime glass  (B) Boro silicate glass 
 (C) High silica glass  (D) High leaded glass 
  
 (A)   (B)  
 (C)  (D)  
103. The properties of transformer oil are :  
 (i) permittivity is 2.2 at room temp. 
 (ii) specific heat is 0.425. 
 (iii) dielectric strength is 30 kV/mm. 
 (iv) specific gravity is 0.885. 
 (v) flash point is 135 C. 
 Which of the following is true ?   
 (A) (i), (ii), (iii) & (iv)  (B) (i), (ii), (iv) & (v) 
 (C) (i), (ii), (iii), (iv) & (v) (D) (ii), (iii), (iv) & (v) 
 :  
 ( ) 2.2  
 ( ) 0.425  
 ( ) 30 /  
 ( ) 0.885  
 ( ) 135 C  
 ?   
 (A) (i), (ii), (iii)  (iv) (B) (i), (ii), (iv)  (v) 
 (C) (i), (ii), (iii), (iv)  (v) (D) (ii), (iii), (iv)  (v) 
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104. Solder is an alloy of 
 (A) Nickle, Copper and Lead (B) Silver, Copper and Lead 
 (C) Copper and Aluminium (D) Tin and Lead 
  
 (A) ,  (B) ,  
 (C)  (D)  
 

105. Slip rings of an induction motors are made of  
 (A) Aluminium   (B) Phosphor bronze 
 (C) Cobalt steel   (D) Carbon 
  
 (A)    (B)  
 (C)    (D)  
 

106. A transformer step up the voltage by a factor 100. The ratio of current in the 
primary to that in secondary is  

  100  
 (A) 1 (B) 100 (C) 0.01 (D) 0.1 
 

107. If the percentage resistance of a power transformer for secondary side is 2.5 
percent and turn ratio is 1:10, the percentage secondary resistance referred 
to primary will be  

 2.5 1:10
 

 (A) 25 (B) 2.5 (C) 0.25 (D) 0.025 
 

108. When a no load test is carried out on HV side of 1000/100 V single phase 
transformer with 100 V winding open, the wattmeter reads 110 watts. If the 
test is repeated on LV side with 1000 V winding open. The wattmeter will 
read.  

 
1000

 
 (A) 11  (B) 1.1  (C) 1100  (D) 110  
 

109. It is advisable to use auto-transformer if the transformation ratio is  
 (A) Greater than 1 (B) Near to 1 (C) 0.25 (D) 0.5 
  
 (A) 1  (B) 1  (C) 0.25 (D) 0.5 
 

110. A distribution transformer is selected on the basis of 
 (A) All day efficiency  (B) Voltage regulation 
 (C) Efficiency   (D) None of the above 
  
 (A)   (B)  
 (C)    (D)  
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111. The field system of an alternator is usually excited at  
 (A) 3-phase, 50 Hz, 400 V (B) 230 V ac 
 (C) 110/220 V ac   (D) 250/300 V dc 
  
 (A) 3- , 50 , 400  (B) 230  
 (C) 110/220    (D) 250/300  
 

112. A 500 MW 3-phase Y-connected synchronous generator has a rated voltage 
of 21.5 kV at 0.85 pf. The line current when operating at full load rated 
conditions will be  

 500 MW 3- - 0.85 pf
21.5 kV  

 (A) 15.79 kA (B) 13.43 kA (C) 23.25 kA (D) 2.36 kA 
 

113. A 10 pole, 25 Hz alternator is directly coupled to and is driven by 60 Hz 
synchronous motor. What is the number of poles for the synchronous     
motor ? 

 10 25 60
 

 (A) 48 (B) 12 (C) 24 (D) 16 
 

114. The infinite busbar has 
 (A) Constant voltage  (B) Constant frequency 
 (C) Infinite voltage  (D) Both (A) and (B) 
  
 (A)  (B)  
 (C)   (D) (A) (B) 
 

115. In a three phase slip ring induction motor, brushes are connected to  
 (A) External star connected resistors (B) DC supply 
 (C) 3-phase AC supply  (D) Equalizing coils 
  
 (A)  (B)  
 (C) 3-   (D)  
 

116. Block rotor test of an Induction motor corresponds, in case of a transformer, 
to  

 (A) Full load   (B) Half load 
 (C) No load   (D) Short circuit operation 
  
 (A)    (B)  
 (C)    (D)  
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117. The starting current of three phase induction motor is about 
 (A) Half   (B) Twice 
 (C) 5 to 7 times   (D) 15 to 20 times 
  
 (A)    (B)  
 (C) 5 7    (D) 15 20  
 

118. The power factor at which single phase induction motor usually operate on 
load is  

 (A) 0.7 lag (B) 0.9 lag (C) 0.7 lead (D) Unity 
  
 (A) 0.7  (B) 0.9  (C) 0.7  (D)  
 

119. An induction motor when started on load does not accelerate up to full 
speed but runs at 1/7th of the rated speed. The motor is said to be  

 (A) Locking (B) Plugging (C) Crawling (D) Cogging 
 

 
 (A)  (B)  (C)  (D)  
 

120. In an induction motor, what is the ratio of the rotor copper loss and rotor 
input? 

 ? 
 (A) 1/s (B) (1 – s) (C) s/(1 – s) (D) s 
 

121. The electric braking generally employed in rolling mills, elevators and 
printing press is  

 (A) Plugging   (B) Rheostatic 
 (C) Dynamic   (D) Regenerative 
 

 
 (A)    (B)  
 (C)    (D)  
 

122. The tips of the electrodes for spot welding is made up of 
 (A) Carbon   (B) Copper alloy or pure copper 
 (C) Mica   (D) Porcelain 
  
 (A)    (B)  
 (C)    (D)  
 

123. Air craft body is 
 (A) Riveted (B) Seam welded (C) Gas welding (D) Spot welding 
  
 (A)  (B)  (C)  (D)  
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124. Which of the following colour has wavelength between blue and yellow 
colour ? 

 (A) Violet (B) Orange (C) Red (D) Green 
 ? 
 (A)  (B)  (C)  (D)  
 

125. The illumination level required for precision work is about 
 (A) 250 lux (B) 500-1000 lux (C) 200 lux (D) 300 lux 
  
 (A) 250  (B) 500-1000 (C) 200  (D) 300  
 

126. In refrigeration cycle, the flow of refrigerant is controlled by 
 (A) Compressor   (B) Condenser 
 (C) Evaporator   (D) Expansion Valve 
  
 (A)    (B)  
 (C)    (D)  
 

127. In India diesel locomotives are manufactured at  
 (A) Varanasi (B) Kolkata (C) Bangalore (D) Ajmer 
  
 (A)  (B)  (C)  (D)  
 

128. Specific energy consumption is maximum in _______ service. 
 (A) Urban   (B) Sub-urban 
 (C) Main line   (D) Equal for all types 
  
 (A)    (B) -  
 (C)    (D)  
 

129. The error introduced by an instrument fall in which category ? 
 (A) Random error  (B) Environmental error 
 (C) Gross error   (D) Systematic error 
 ? 
 (A)   (B)  
 (C)    (D)  
 

130. Oscilloscope is basically a/an 
 (A) Ammeter (B) Voltmeter (C) Wattmeter (D) Energy meter 
  
 (A)  (B)  (C)  (D)  
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131. A 0-100 V voltmeter has an accuracy of 1% at full scale reading. What will 
be the error if it reads 50 V ?  

 (A) 1 percent (B) 2 percent (C) 0.5 percent (D) 4 percent 
 0-100 V 1% 50 V

?  
 (A) 1  (B) 2  (C) 0.5  (D) 4  
 

132. A thermocouple ammeter gives full scale deflection at 10 A. When the 
meter reads one fifth of the scale, the current will be 

 10
 

 (A) 2 A (B) 4 A (C) 4.47 A (D) 5.78 A 
 

133. Which bridge is used to determine frequency ? 
 (A) Anderson bridge  (B) De-Sauty bridge 
 (C) Wien bridge   (D) Campbell bridge 
 ? 
 (A)   (B) -  
 (C)    (D)  
 

134. What is the approximate input impedance of a CRO ? 
 (A) Zero   (B) 10 ohms 
 (C) 10 micro ohms  (D) 1 Mega ohms 
 CRO ? 
 (A)    (B) 10  
 (C) 10   (D) 1  
 

135. Which one of the following is non-valid BCD code ? 
 BCD ? 
 (A) 01111001   (B) 01011011 
 (C) 01001000   (D) 01001001 
 

136. The decimal equivalent of (1431)8 is 

 (1431)8  

 (A) 793 (B) 739 (C) 379 (D) 397 
 

137. Three Boolean operators are 
  
 (A) , ,   (B) , ,  
 (C) , ,   (D) , ,  
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138. The drawback of R-firing circuit is  
 (A) Reduced response time 
 (B) Requirement of high on-time of SCRs 
 (C) High power loss  
 (D) None of the above 
 -  
 (A)  
 (B) SCR  -  
 (C)   
 (D)  
 

139. Triac is  
 (A) 2 terminal switch  (B) 2 terminal bilateral switch 
 (C) 3 terminal unilateral switch (D) 3 terminal bidirectional switch 
  
 (A) 2    (B) 2  
 (C) 3 (D) 3  
 

140. The current flows in semiconductor depends on the phenomenon of 
 (A) Drift   (B) Diffusion 
 (C) Recombination  (D) All of the above 
  
 (A)    (B)  
 (C)   (D)  
 

141. The initial idea of recruitment on merit principle can be traced to the  
 (A) Maxwell Committee (B) Lee Commission 
 (C) Macaulay Committee (D) Islington Commission 
  
 (A)  (B)  
 (C)  (D)  
 

142. Who among the following moved the ‘Objectives Resolution’ in the 
Constituent Assembly ?  

 (A) Jawaharlal Nehru  (B) Mahatma Gandhi 
 (C) B.R. Ambedkar  (D) B.N. Rao 
 ‘ ’ ? 
 (A)   (B)  
 (C) . .   (D)  
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143. Which one of the following is not a salient feature of the Constitution of 
India ? 

 (A) Quasi federal structure 
 (B) Committed judiciary 
 (C) Distribution of powers  
 (D) Written constitution and supremacy of the constitution 
 ? 
 (A)  
 (B)  
 (C)   
 (D)  
 

144. Right to education is a fundamental right emanating from right to : 
 (A) Life and personal liberty under Article 21 
 (B) Freedom of speech and expression under Article 19 
 (C) Culture & Education under Articles 29 and 30 
 (D) None of these 
   
 (A) 21  
 (B) 19  
 (C) 29 30  
 (D) 
 

145. Which one of the following is not the objective of the Directive Principles 
of State Policy ?  

 (A) To establish a secular state (B) To establish a religious state 
 (C) To establish a welfare state (D) To ensure socio-economic justice 
 ?  
 (A)  (B)  
 (C)  (D)  
 

146. Which one of the following diseases is caused due to defective genes ? 
 (A) Cancer (B) Diabetes (C) Haemophilia (D) Ulcer 
 ? 
 (A)  (B)  (C)  (D) 
 

147. Galvanizing the sheet of iron is done by dipping the sheet of metal into molten  
 (A) Lead (B) Cadmium (C) Mercury (D) Zinc 
  
 (A)  (B)  (C)  (D)  
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148. Natural rubber is chemically known as  
 (A) Gum (B) Resin (C) Mucilage (D) Latex 
  
 (A)  (B)  (C)  (D)  
 

149. Monazite is a source of  
 (A) Calcium (B) Thorium (C) Uranium (D) Phosphorus 
  
 (A)  (B)  (C)  (D)  
 

150. The biggest object in the evening sky is  
 (A) Venus (B) Saturn (C) Dog star (D) Cirius 
  
 (A)  (B)  (C)  (D)  
 

151. Which acid helps in conversion of milk to curd ? 
 (A) Tartaric acid (B) Lactic acid (C) Maleic acid (D) Fumaric acid 
 ? 
 (A)  (B)  (C)  (D)  
 

152. Which of the following plants fixes nitrogen ? 
 (A) Beans (B) Carrot (C) Banyan (D) Potato 
 ? 
 (A)  (B)  (C)  (D)  
 

153. What is the temperature at the surface of the sun ? 
 ? 
 (A) 100 C (B) 6000 C (C) 6650 C (D) 8000 C 
 

154. Atmospheric pressure exerted on earth is due to the  
 (A) Gravitational pull  (B) Uneven heating of earth 
 (C) Rotation of earth  (D) Revolution of earth 
  
 (A)    (B)  
 (C)    (D)   
 

155. Which one of the following is a non-metallic mineral ? 
 (A) Manganese (B) Magnesium (C) Gypsum (D) Bauxite 
  
 (A)  (B)  (C)  (D)  
 

156. The principal language of the people of Lakshadweep is  
 (A) Telugu (B) Kannad (C) Malyalam (D) Urdu 
  
 (A)  (B)  (C)  (D)  
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157. Bhils are mostly concentrated in  
 (A) Haryana   (B) Madhya Pradesh 
 (C) Punjab   (D) Uttar Pradesh 
  
 (A)    (B)  
 (C)    (D)  
 

158. Which of the following groups constitutes the largest minority group in 
India ? 

 (A) Muslim (B) Christian (C) Sikh (D) Jain 
 ? 
 (A)  (B)  (C)  (D)  
 

159. With what is ‘blue revolution’ concerned ? 
 (A) Agriculture (B) Irrigation (C) Fishing (D) Dairy farming 
 ? 
 (A)  (B)  (C)  (D)  
 

160. The leading cash-crop of Sikkim is 
 (A) Tea (B) Coffee (C) Jute (D) Cardamom 
  
 (A)  (B)  (C)  (D)  
 

161. The largest reserve of coal in India occurs in 
 (A) Godavari Basin  (B) Damodar Basin 
 (C) Narmada Basin  (D) Cauvery Basin 
  
 (A)    (B)  
 (C)    (D)  
 

162. The oldest mountain range in India is the  
 (A) Shivaliks (B) Aravallis (C) Himalayas (D) Vindhyas 
  
 (A)  (B)  (C)  (D)  
 

163. Which of the following is the highest mountain peak in India ? 
 (A) Karakoram - 2  (B) Nanda Devi 
 (C) Ghasherbrum   (D) Kanchenjunga 
 ? 
 (A) -2 (B)  (C)  (D)  
 

164. The headquarters of the Ghadar Party was in  
 (A) New York   (B) Massachusetts 
 (C) San Francisco  (D) New Orleans 
  
 (A)  (B)  (C)  (D)  
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165. When did Muslim League demand for a separate Muslim state ? 
 (A) March 1942 (B) March 1940 (C) March 1945 (D) March 1947 
 ? 
 (A) 1942 (B) 1940 (C) 1945 (D) 1947 
 

166. Which was the Act which curtailed the liberty of the Indian people ? 
 (A) Rowlatt Act   (B) Ilbert Bill 
 (C) Simla Act   (D) Morley-Minto reforms 
 ? 
 (A)    (B)  
 (C)   (D)  
 

167. Tulsidas was the contemporary of  
 (A) Jahangir (B) Shah Jahan (C) Aurangzeb (D) Akbar 
  
 (A)  (B)  (C)  (D)  
 

168. The first Anglo – Mysore war went in favour of  
 (A) the Marathas (B) Haider Ali (C) the French (D) the English 
 –  
 (A)  (B)  (C)  (D)  
 

169. The Satvahanas issued coin mostly of  
 (A) bronze (B) copper (C) lead  (D) silver 
  
 (A)  (B)  (C)  (D)  
 

170. Which minor Rock Edict contains a summary of Ashoka’s Dhamma or Law 
of Piety ? 

 (A) Minor Rock Edict I (B) Minor Rock Edict II 
 (C) Minor Rock Edict III (D) All of these 
  
 (A)    (B)  
 (C)   (D)  
 

171. Who is the Head of State of Australia ? 
 (A) Malcolm Turnbull  (B) Victor Orban 
 (C) Elizabeth II   (D) Justin Trudeau 
 ? 
 (A)   (B)  
 (C)    (D)  
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172. Who is the President of International Cricket Council ? 
 (A) Zaheer Abbas  (B) Mustafa Kamal 
 (C) Colin Cowdrey  (D) Clyde Walcott 
 ? 
 (A)   (B)  
 (C)   (D)  
 

173. Who has successfully launched the world’s first quantum satellite recently ? 
 (A) Russia (B) USA (C) France (D) China 
 ? 
 (A)  (B)  (C)  (D)  
 

174. Which of the following has become the India’s first cashless and digital 
tribal colony ? 

 (A) Nedumkayam  (B) Mawlynnong 
 (C) Pukhrayan   (D) None of these 
 ? 
 (A)   (B)  
 (C)    (D)  
 

175. Who has written a book ‘Azad Bachpan Ki Aur’ ? 
 (A) Anuj Dhar   (B) Rishi Kapoor 
 (C) Dr. K.P. Mathur  (D) Kailash Satyarthi 
 ‘ ’ ? 
 (A)    (B)  
 (C) .    (D)  
 

176. Who was the first chief commissioner of Himachal Pradesh ? 
 (A) S. Chakravarti  (B) E.P. Moon 
 (C) Jaiwant Ram   (D) N.C. Mehta 
 ? 
 (A) .   (B) . .  
 (C)    (D) . .  
 

177. What is the sex ratio of Himachal Pradesh as per Census 2011 ? 
 2011 ? 
 (A) 943 (B) 940 (C) 962 (D) 972 
 

178. The number of Rajya Sabha seats from Himachal Pradesh is  
  
 (A) 2 (B) 3 (C) 4 (D) 5 
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179. The state flower of Himachal Pradesh is  
 (A) Rose   (B) Lotus 
 (C) Pink Rhododendron (D) None of these 
  
 (A)    (B)  
 (C)  (D)  
 

180. During which year, the fort of Kangra was looted by Mahmud of Ghazni ? 
  
 (A) 1019 (B) 1025 (C) 1017 (D) 1009 
 

181. Which of the following is the highest peak of Himachal Pradesh ?  
 (A) Shilla (B) Shipki (C) Pishu (D) Jorkaden 
 ?  
 (A)  (B)  (C)  (D)  
 

182. Giri river is the tributary of which one of the following rivers of Himachal 
Pradesh ? 

 (A) Beas (B) Satluj (C) Ravi (D) Yamuna 
  ? 
 (A)  (B)  (C)  (D)  
 

183. Tatapani, famous for hot springs is located in which one of the following 
districts of Himachal Pradesh ?  

 (A) Shimla (B) Mandi (C) Kullu (D) Solan 
 

 
 (A)  (B)  (C)  (D)  
 

184. Which of the following districts of Himachal Pradesh does not have soil 
testing laboratory ? 

 (A) Chamba  (B) Kinnaur (C) Una (D) Lahaul-Spiti 
 ? 
 (A)  (B)  (C)  (D) -  
 

185. The state centre for climate change in Himachal Pradesh is located at  
 (A) Hamirpur (B) Kangra (C) Mandi (D) Shimla 
  
 (A)  (B)  (C)  (D)  
 

186. Who is the ex-officio chairman of NITI Aayog ? 
 (A) President   (B) Vice President 
 (C) Speaker   (D) Prime Minister 
  
 (A)    (B)  
 (C)    (D)  
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187. As ‘House’ is related to ‘Mason’, in the same way, ‘Chair’ is related to 
which ? 

 ‘House’, ‘Mason’ ‘Chair’  
 (A) Carpenter (B) Wood (C) Furniture (D) Seat 
 

188. In a code ‘BOXER’ is written by ‘AQWGQ’, then ‘VISIT’ will be written as  
 ‘BOXER’, ‘AQWGQ’ ‘VISIT’  
 (A) UKRKU (B) UKRKS (C) WKRKU (D) WKRKS 
 

189. If Mohini says, “The father of Rajeev is the only son of my father”, then 
how is Mohini related to Rajeev ? 

 (A) Aunt (B) Daughter (C) Sister (D) Mother 
 “ ”,

? 
 (A)  (B)  (C)  (D)  
 

190. Rajesh is 10th from one end in a line of students and 9th from the other end. 
What is the total number of students in the class ?  

 (A) 19 (B) 20 (C) 18 (D) None of these 
 10 9

?  
 (A) 19 (B) 20 (C) 18 (D) 
 

191. We entered _______ the class room. 
 (A) into   (B) in 
 (C) for   (D) No preposition is needed. 
 

192. She takes pride _______ her beauty. 
 (A) of (B) for (C) about (D) in 
 

193. A statement on oath is  
 (A) Blasphemy (B) Prophecy (C) Affidavit (D) Alibi 
 

194. Air is to man as water is to  
 (A) plants  (B) airman (C) amphibians (D) life 
 

195. One word substitute for ‘one who is fond of inflicting pain’ is  
 (A) painful (B) sadist (C) mischievous (D) harmful 
 

196. ‘’   
 (A)  (B)  (C)  (D)     
 

197. ‘’      
 (A)  +  (B)  +  (C)  +  (D)  +  
 

198. ‘’     ? 

 (A)  (B)  (C)   (D)  
 

199. ‘’     
 (A)  (B)  (C)  (D)  
 

200. ‘’    
 (A)  (B)  (C)  (D)  

_______________  
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